HORIBA

Laser Scattering Particle Size Distribution Analyzer LA-950
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No. |MLF#& (um) | $BEE (%) [EBHIEE ) ||No. [RIFE (um) | S8E ) |BBHSTEE %) | |[No. |BIFE (um) | $E (%) [FEBHEHE @) ||No. [FFE(um | HE Q) |FEBPEE %)
1 0.011 0. 000 0. 000 26 0.339 0. 000 0. 000 51 10. 097 1.088 2.973 76 300.518 0.288 100. 000
2 0.013 0. 000 0. 000 27 0. 389 0. 000 0. 000 52 11. 565 1.562 4.535 17 344. 206 0. 000 100. 000
3 0.015 0. 000 0. 000 28 0. 445 0. 000 0. 000 53 13. 246 2.145 6. 680 78 394. 244 0. 000 100. 000
4 0.017 0. 000 0. 000 29 0.510 0. 000 0. 000 54 15.172 2.722 9.402 79 451. 556 0. 000 100. 000
5 0.020 0. 000 0. 000 30 0.584 0. 000 0. 000 55 17.377 3.106 12. 507 80 517. 200 0. 000 100. 000
6 0.022 0. 000 0. 000 31 0. 669 0. 000 0. 000 56 19. 904 3.159 15. 666 81 592. 387 0. 000 100. 000
7 0. 026 0. 000 0. 000 32 0.766 0. 000 0. 000 57 22.797 2.914 18. 580 82 678. 504 0. 000 100. 000
8 0.029 0. 000 0. 000 33 0.877 0. 000 0. 000 58 26.111 2.520 21.099 83 777141 0. 000 100. 000
9 0.034 0.000 0. 000 34 1.005 0.000 0. 000 59 29.907 2.119 23.218 84 890. 116 0. 000 100. 000
10 0.039 0.000 0. 000 35 1.151 0. 000 0. 000 60 34. 255 1.810 25.029 85| 1019.515 0. 000 100. 000
1 0.044 0.000 0. 000 36 1.318 0. 000 0. 000 61 39.234 1.693 26.722 86| 1167.725 0. 000 100. 000
12 0. 051 0.000 0. 000 37 1.510 0. 000 0. 000 62 44.938 1. 851 28.572 87| 1337.481 0. 000 100. 000
13 0. 058 0.000 0. 000 38 1.729 0. 000 0. 000 63 51.471 2.236 30. 809 88| 1531.914 0. 000 100. 000
14 0.067 0.000 0. 000 39 1.981 0. 000 0. 000 64 58. 953 2.897 33.705 89| 1754.613 0. 000 100. 000
15 0.076 0.000 0. 000 40 2.269 0. 000 0. 000 65 67.523 3.873 37.578 90 | 2009. 687 0. 000 100. 000
16 0.087 0.000 0. 000 4 2.599 0. 000 0. 000 66 77.339 5.212 42.790 91 2301. 841 0. 000 100. 000
17 0.100 0.000 0. 000 42 2.976 0. 000 0. 000 67 88.583 6.967 49.757 92| 2636. 467 0. 000 100. 000
18 0.115 0.000 0. 000 43 3. 409 0.000 0. 000 68 101. 460 8.583 58. 340 93| 3000. 000 0. 000 100. 000
19 0.131 0.000 0. 000 44 3.905 0.000 0. 000 69 116. 210 8.890 67.229
20 0.150 0.000 0. 000 45 4. 472 0.039 0.039 70 133.103 9. 091 76. 320
21 0.172 0.000 0. 000 46 5.122 0.139 0.177 n 152. 453 8. 603 84.923
22 0.197 0.000 0. 000 47 5.867 0.203 0. 380 72 174.616 6.917 91. 840
23 0.226 0.000 0. 000 48 6.720 0.307 0.687 73 200. 000 4. 488 96. 328
24 0.259 0.000 0. 000 49 7.697 0.472 1.159 74 229.075 2. 355 98. 683 2, 2e] T = A
25 0.296 0.000 0. 000 50 8.816 0.726 1.885 75 262. 376 1.029 99.712 1E*%%**ﬂ K*i
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